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ECONOMICS
Paper — 111
Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1. A firm operating in perfectly 4.  Match the items in List — | with items
competitive product and input inList—11:
markets. Maximizes its total profit List-1 List— 11
when a. Various 1. Indifference
(A) P = MCX and MCX is rising gocrcr)lrtl)énﬁleornctar;]at Map
purchase
MP,  MP, b. Various 2. Budget Line
B) 5 =P, combination of
a two commodities
MP, MP, 1 that give the
© P - P "M consumer equal
a b Cx satisfaction
c. Asetof 3. Consumer
(D) MP, _MPb 1 1 indifference Equilibrium
Pa = Py " Mg TPy cyrve .

X d. Pointof tangency 4. Indifference
of.a budget line Curves
and indifference

2. Shadow price refers to curve
(A) change in the value of the Cples - b q
constraint per unit change in 2 ¢
the objective function (A) 2 4 L 3
' (B) 2 1 4 3
(B) change in the value of objective (C) 4 1 2 3
function per unit change in any (D) 4 2 1 3
one of the constraints. . L o
5. Match the items in List — | with items
(C) the change in the value_of, the in List =11 :
primal solution pér unit ehange List — | List — 11
in the dual solutien. a. Residual 1. Nut. K.
(D) all the above: Claimant Wicksel
Theory
b. Loanable Funds 2. Bergson-
3. Inan economy.of two individuals (A Theory Samuelson
& B) and two commodities (X and c. Compensation 3. Walker
Y) general equilibrium of exchange Criteria
is reached when d. Social Welfare 4. Kaldor-
(A) 'MRTS, ., = MRTS, , Coderu:nCtlon Hicks
= a b C d
(B) MRSy, =Py/P, A) 3 . i 5
(C) (MRSyy)s=(MRSy\)g (B) 3 2 1 4
C) 2 1 3 4
(D) MRS, =Py /Py (D) 2 3 4 1
Paper-I111 2 S-01-13
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PrErER

T

AT ;T IR0 H R (75) Tg-foshedid U € | e TR % &Y (2) SR & | et IR S1He € |

1. U %H qUT Aoy 3crg SR fHfae
IR | HH HA & | T8 379 For T
W FTaAH Bl € 5T

(A) P=Mc 3TMg ¢ el

MP MP
a b
® 5 =7p
a b
© MP, _MPb 1
Pa P Mg
D) MPa_MPb_ 11
Pa Pb MC |:>X

2. S ST MY wA €

(A) vfd ohE W Tead & gog
IRad agHe ®E A ufEfad
BT |

i THE SRgHE A % g,
e fhdt T % i e
A oo o1 URea ¥ |

ufd THE TIE T, &
Qe el T I
AT E |

(D) U &

(B)

©) q
gfaa &

3. T AFENA R B) 3R 1 e
(X ST, F e | fatHa &
YT o BT & ST

(A) MRTS,, = MRTS,
(B)
(©)
(D)
$-01-13

MRSy, =Py /Py,
(MRSyy) s = (MRSy\)g
MRSy, =Py /Py

4.

T — | o U&T B gdt - || H AS |
gafed HIT |

=it - | =it - 11
a. #EOgTg M 1. de
ST 5T BT (Indifference)
T & | A
b. TAGA FHE 2. ToEI@l
g S
ST
;ﬂﬁ@?ﬁ@éﬁ
|
C. T Ak I@rel ¢3. ST
1 T I
d. @S/ @ H 4. T TH
9l fovg 37
T T
G T
a b c d
A 2 4 1 3
B 2 1 4 3
© 4 1 2 3
o 4 2 1 3

Tl — | & gl — || @ gAfeAT FHIT |

=it - | =it - 11
a. STERITE 1. T ®,
s IEEZeC]
b. ToREFI ®E 2. EA-
lisEAAR| HgTeraT
C. T AUEUS 3.
d. g 4. FHASR-Ea
FHT0T HAT
FHT
a b c d
A 3 1 4 2
B 3 2 1 4
C 2 1 3 4
D 2 3 4 1
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Assertion (A) : An Iso Cost Line is a
straight line.

Reason (R) : The market rate of
exchange between the two
inputs is constant.

Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not correct explanation
of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : The rate of fall of
MR Curve is more than twice
the rate of fall of AR.

Reason (R) : The MR & AR Curves
are linear and negatively
sloped.

Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not a correct explanation
of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Which of the following is true with

regard to peak-load pricing ?

(@ It is applicable _only™ for
electrical public utilities.

(b) It leads to substitution in
consumption_from the period of
peak demand~to the period of
low demand.

(c) It leads. to reduction in
consumer welfare.

(d) Itwleads to higher consumer
welfare during peak periods
when demand and marginal
costs are low.

Codes :

(A) (a) & (b) only.

(B) (a) &(c) only.

(C) (b) and (d) only.

(D) (b) & (c) only.

Paper-I111

9.

10.

11.

In the long run, the autonomous
consumption will

(A) Dbeinfinity

(B) remains unchanged

(C) decline but will remain positive
(D) be zero

Which of the following statements is
not true in case of the balanced
budget multiplier ?

(A) The first round_contractionary
effect of additional tax revenue
(b, AT; b = MPC) is less than
the explanatory effect of
additional Government
expenditure (= AG).

(B)=. The,value of tax multiplier for
proportional taxes is#tlbt
(where b = MPC and t = tax rate).

(C) The value of balanced budget
multiplier is unity when taxes
are lump sum taxes.

(D) None of the above

For a small economy in a flexible
exchange rate system that begins in
the long-run equilibrium point, a
higher rate of inflation in the short-
run will be followed by

(A) An increase in the exchange
rate and decline in net exports.

(B) Decrease in the exchange rate
and an increase in net exports.

(C) Contractionary monetary
policy and real exchange rate
appreciation.

(D) Explanatory monetary policy and
real exchange rate depreciation.
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afipeE (A) : 99 AN W@ U6 T
@y

& (R) : 31 Maftear & s fafma =
famu T fer & |

%<

(;A) (A) 3R (R) I & € AR (A)
1 (R) W& AT |

(B) (A) @R (R) T &l €, W] (A)
' (R) Tel A7 T € |

(C) (A) Tt &, R (R) Tord ¢ |

(D) (A) 7o & R (R) Tl ¢ |

AfUHUT (A) : TH.AR, T @ B T
T fiREe TR, & T H REe
% I A ek el & |

% (R) : TH.3R, 3R TR, % &
£ 3R TR w9 ¥ st € |

he:

(A) (A) 3R (R) 3T & € 3R (A)
' (R) W&t AT |

(B) (A) &R (R) sHi Wel &, W= (A)
1 (R) Tel a7 T € |

(C) (A) Wl ¢, W= (R) To1d & |

(D) (A) Tord & W= (R) W& ¢ |

TWH YR SHiAd FURe 9 ged

fr=ferfiaa o @ @9 91 %o @

(a) T& AP olh STATTAISHIIR AN]
BATE |

(b) TAT % TRA LT F IR A
=T W % THg/% SR SUHT |/
fereheal, st Mfaeeg giar & |

(C) TR SN HeoT H AT S & |

(d) . AR FEV A B9 8 %
T IR % AT & SR YA

HoI0] ITAAL &l AT & |

(A) e (a) 3T (b)
(B) 9 (a) 3R (C)
(C) charet (b) 3 (d)
(D) haret (b) 3 (c)
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9.

10.

11.

ZreehTeT H, TETET ST

(A) o= & |

(B) 3TuRafad & |

(C) =T T WehRIHH & |
(D) S |

FfeTd SS1e T[T % HIHel H Hefarad
H 9 B A1 FH a6 2

(A) ARG FT IEH & Tget =56
Had o (—h, AT; b = MPC)
faRed (WA @d (= AG)
forem e 4 FH & |

(B) “3Truiaes i % o0 -1 ol

_b &
Y § T+ pt 01 b = MPC

ARt = F Bl W)

(C) i svfe ok I Hod Tk
THE & ST B UHHYT H &l |

(D) SR | F T & |

ARR fafaa T it el § Twger

o5 @ URwy il €, @ STeeiet § Thid

T o I BT STE0T &I

(A) Tafma X ghg 2R 35 Fafa o
AT ST |

(B) fafma =¥ w3 v fwam
T |

(C) TFod U1 Hifd IR adia®
o= ST e |

(D) g1 Aifd ° foxror 3R awdfas
fafv 5T & =4t e |
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Speculative demand for money is
zero when market rate of interest is
(A) more than the “critical rate’.

(B) more than the market rate of
interest but less than the critical
rate (i.e. capital gains occur).

(C) less than the market rate of
interest.

(D) lowest (i.e. in liquidity trap).

A positively sloped aggregate supply

curve indicates that

(A) an increase in aggregate demand
will be associated with an
increase in the price level and no
change in equilibrium output.

(B) an increase in aggregate
demand will be associated with
an increase in both the price
level and equilibrium output.

(C) an increase in aggregate demand
will be associated with an
increase in equilibrium output
and no change in the price level.

(D) none of the above.

The capacity creating aspect “of
investment in growth theory was
emphasised by

(A) R.F.Harrod

(B) E.D.Domar

(C) R.M. Solow

(D) P.A.Samuelson

Which of the following is not an
interpretation~of the golden rule of
accumulation ?

(A)« “Invest your profits, consume
your wages.’

(B) “"The share of profit in output is
equal to the ratio of investment
to output.

(C) Saving ratio should be equal to
the elasticity of output with
respect to capital.

(D) None of the above.

Paper-I111

16.

17.

18.

19.

The rational expectations hypothesis

does not imply :

(A) People do not make systematic
errors.

(B) On average the economy will
be close to Long-run Average
Supply (LAS) Curve.

(C) Policy makers have better
information about the economy
than other economic actors.

(D) Macroeconomic policy changes
must came as a surprise in
order to have an impact,on the
real economy.

Which of the following are true of
disguised unemployment ?

l. It represents potential savings.

I1. The “marginal productivity of
labaur is zero or extremely low.

1./ 1t is due to the existence of
joint family system.

IV. Itis confined to the rural areas.

Codes :

(A) Hand IV

(B) IHland IV

(C) I, landIll
(D) L1 1Hland IV

According to A.K. Sen, famines
occurred in India because of

(A) lack of proper distribution
mechanism

(B) lack of demand
(C) lack of transportation
(D) shortage of foodgrains

In India, Five Year Plan is
formulated by

(A) C.S.O.

(B) Planning Commission
(C) Finance Commission
(D) Planning Ministry

S-01-13
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T S IReIIHE | I B S
TSR AT 3T &l

(A) il 3T T 3TTeH

(B) IR &S T ¥ Ih WA
Hitdd 5 (I o eI &) T HH
Kl

(C) INIR &SR FH &l |

(D) F=Taw (3TATd ARETdT STTeT)

TF TERHE (RS T 3MIfd o
TR & o

(A) Tt | D gy HEd TR Fhg
T g Bl 3R i aeqer |
IS TNEd T8l B |

(B) FoT AT H Fhg FHd T R
id S=ge g1 & ghg & T
|

(C) o1 &M i ghg i & Fger
o iy ¥ T M 3R
TR H g g =@l &nm |
(D) SR | F ST & |

ghg H Fae % Ut § wme i
AN W fohE et T4 9

(A) IR W
(B) TE. T

(C) oWTH. der
(D) T AT

FeffEd g a7 9999 & @y

o I e e e € 2

(A) Ty & e ®iSE, adq @
ST HIT |

(B) Tid | oMy & 3791 SRR & i
o a9 S S

(C) = U Ioit ¥ grafwa ia
i AT o SRS BT Ay |

(D) SWied § § &g Tl |
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16.

17.

18.

19.

TR TR UReheaT H TS Tl &

(A) AT STHRIRT AT el e |

(B) 3fiEad orlegewmr <Eder |
3T 2Mgfd =5k (LAS) & Haa
B |

(C) 3= onfar Fdswie @ ifd
et @ eriegaET Wl
g TR Bl & |

(D) wufte -Afd & uRad= smved
% ®T H g Ak SHHT IR
3T T I J9E & |

T SISTTRT o Sire Fhfefoiraa o

AP I T2

.  TE GUEd\T=dl 1 UidHree
FAL S

1.\ 9%, G Scasehal I 372
A T B § |

lII./ ¥& g IRaR USid o eI
& HROTE |

V. % urHior &5 9 Siid & |
R.

¢ .

(A) 1l 3RV
(B) I 3R IV
(C) I, 1l 31
(D) L1111 3R IV

T, O % AR 9Rd | 37T ey
e &

(A) STafomo T HIe= A

(B) WMFAEHE

(C) uREEAFARH |

(D) W= B HH H

IR W G et o1 o7 s €
(A) Trud.sT.
(B) ISHT =M
(C) foxd-amamT
(D) ST HATGH
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20. In which year, the Wildlife Board in
India was established ?
(A) 1952 (B) 1968
(C) 1986 (D) 1992
21. Indian planning mechanism was
criticised by
(A) AK.Sen
(B) Jagdish Bhagwati
(C) L.K.Jha
(D) Bimal Jalan
22. ‘Aam Admi Bima Yojana’ provides
social security to
(A) all labour in rural areas
(B) all landless labour living below
poverty line in rural areas
(C) all labour in urban areas
(D) all labour in both rural and
urban areas
23. List—1 List—11
i. 1%Five a. Agriculture
Year Plan
ii. 2" Five b. Heavy
Year Plan industries
iii. 5" Five c. Anti-poverty
Year Plan Programmes
d. Luxury-items
Codes :
(A) i-a,ii—b,di=cC
(B) i-d,ii<b,iii=c
(C) i—-d li=g, ili—a
(D) i-—¢, ii=a,iii—-b
24. Which State in India has the lowest
Infant Mortality Rate ?
(A) Maharashtra
(B) Goa
(C) Gujarat
(D) Kerala
Paper-I111

25.

26.

Assertion (A) : In the agricultural
lending mechanism of India,
moneylenders  despite their
usurious rates of interest are
still predominant.

Reason (R) : Most often the
commercial banks could not
meet the target of 18% of their
total lending for  the
agricultural sector in the
country.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both~(A)and (R) are true, but
(R)". is not the correct
explanation of (A).

(C)« (A) is true and (R) is false.
(D) (A)is false and (R) is true.

Which one of the following does not
come under land reforms in India ?

(@) Abolition of Intermediaries and
Tenancy Legislation

(b) Ceiling on Land Holding and
Co-operating Farming

(c) Tenancy  Legislation and
Technology Upgradation

(d) Abolition of Intermediaries and
Green Revolution

Codes :
(A) (a)and (c)
(B) (a)and(d)
(C) (a)and(b)
(D) (@), (b), (c) and (d)
S-01-13

www.sakshieducation.com



www.sakshieducation.com

20. @ a9 9 9Rd & o= WON S H
T S 2
(A) 1952 (B) 1968
(C) 1986 (D) 1992
21,  SIRAE IS O i STATeT e i 2
(A) TH &
(B) STRHRT S
(C) uwa® zm
(D) fawet ST
22, ‘3T STRH! ST ASHT WIS G
TS Al &
(A) TTHIT &3 3 et HSIgRT H |
(B) wTHiOT &= W RN HeigAl Wi S
T @ ¥ T @R |
(C) TR &= o Tt Hoigl 1 |
(D) ;ﬁw@mﬁaﬁaﬁ%m@
|
23. =t - | =t - 11
i, T UEEdE  a. B
pISE
ii. A UmedE b, WX SE
pISE
iii. o YmedE ¢ e feRier
pISE R
d. feemet o
ETE
(A) i-a, ii-b,fii=c
(B) i—d,ii<bh,iii<c
(© i-d, =g, ili—a
(D) i-‘c,ii=a,iii-b
24, RO\ HE TSF H R g T G99
HHE 2
(A) werRTZ
(B) T
(C) TR
(D) et
S-01-13

25.

26,

A (A) : TR H P F0T FART
H YR 37 a6l 30 HHRIE ST
T & FESTE ST SeAaTe € |

A% (R) : 9gd aR AT S 3T ot
SUR & ST aTedt 0T 7 18%
O & B, ST S8 S9T o BT
H I BN E, IH Y A W
T |

%< .

¢ .

(A) (A) 3R (R) AT GerwiT (A)
1 (R) W& ATELE

(B) (A) &R (R) sHi =l € W= (A)
1 (R) W&l AR el ¢ |

(C) . (A) W &, == (R) T € |
(D) NA)Y T & W= (R) T&T € |

ffafad & & ®F & 9Ra | 9qH
GURT & ST el STl 2

(a) Toiferal 3fX SRASRRI HHET H
Sl

(b) 9T ¥RUT R TEPRT FH F o0
fH YROT <l T

(C) HRIBR HEA 3T WfTeht
Eapr)

(d) foeiferat ¥ el shifd 1 S

(A) () 3R (c)
(B) (a) 3 (d)
(©) (a) 3 (b)

(D) (@), (b), (c) 3 (d)
Paper-I111

www.sakshieducation.com



27,

28.

29.

www.sakshieducation.com

Assertion (A) : In India, ‘Green
Revolution” was also criticised
as Wheat Revolution.

Reason (R) : The productivity of
wheat in India during the
1970’s was one of the highest
in the world.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : Agricultural income
is taxed by the Union
Government.

Reason (R) : Agriculture is a State
subject.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false:

(D) (A) is false, but (R).is.true:

Match items givep~iniList — | with
those in List — 11 :
List=1
a. Green Revolution
b. Yellow Revolution
c..“White Revolution
d.. 'Blue Revolution
Codes :

List —11
Oilseeds
Milk
Fish
Wheat

PwObd e

(A)
(B)
(®)
(D)

NN PR PD
AP NPT
W wrkrNO
B~ oW waoa
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30.

31.

32.

33.

The fundamental cause for the
collapse of the Bretton Woods
System was

(A) the liquidity problem
(B) the adjustment problem
(C) the confidence problem
(D) all of the above

Hedging refers to

(A) the acceptance of asforeign
exchange risk

(B) the covering of a foreign
exchange risk

(C) foreign exchangespeculation
(D) foreign exchange arbitrage

Members % of the World Trade
Organization are required to

(A) “eliminate all tariffs.

(B) allocate quotas on a first come
first basis.

(C) prevent their
“dumping”.

(D) enforce patent rights for patent
holders from other countries.

firms  from

Which of the following is not related
with optimum currency area ?

(A) Optimal geographical area for

several  currencies  whose
exchange rates are relatively
pegged.

(B) Single currency do not
fluctuate vis-a-vis other
currencies.

(C) Single currency or the pegged
currencies fluctuate jointly vis-
a-vis other currencies.

(D) Optimal geographical area for a
single currency.

S-01-13

www.sakshieducation.com



217.

28.

29.

www.sakshieducation.com

AfweT (A) : IRA § gRa wifd” H
g I HE W W TR
TS T TS |

% (R) : 9RA ¥ 1970 % 39 % IR
& I ISR GOR § qog St
o |

A

(TA) (A) 3R (R) I & € AR (A)
1 (R) & AT & |

(B) (A) @R (R) T &l &, W] (A)
' (R) Tel a7 T € |

(C) (A) T &, R (R) Tod ¢ |

(D) (A) Ter &, W (R) W& |

AfTHUT (A) : P T W T TWEHR
T AT & |

a® (R) : W & fawg =g g& &
FTI ST E

&<

(A) (A) 3R (R) I & € 3R (A)
& (R) el =AM & |

(B) (A) 3R (R) I W €, 3T (A)
1 (R) TEl =amen @i € |

(C) (A) W& & R (R) ToTa € |

(D) (A) Tod & =] (R) W& L, |

At — | AT R g - I wr wEi
gafed ST |

= - | =t - 11
a. BRd ifd 1. A &t
b. et it 2. g
C. WG SHifd 3. "Dl
d. et shifa 4. T
T

a b c d
A 4 1 2 3
B 4 2 1 3
C 2 1 3 4
D) 2 4 3 1

S-01-13

30.

31.

32.

33.

FeT gZH UF(T I FHIG H Tl HROT
T

(A) T THET
(B) THESH U@
(C) Towara gwe
(D) U @t

Efom S et &
(A) st fafma sifew & @R
HET

(B) Tocen fafmar fifem, & ey &
(C) fTaseit fafmg wg
(D) foRei-faiaa SFaRuur fhar

foye &R |eT % Wl 9 Ifuferd €
(A) T+t SRl 1 g2 |

(B) ‘Ul 3T, Tgel UM & MR W
hicT STEted L |
(C) ¥l ®HT T ST & AT |

(D) =7 39 § UL Bl & folw Uee
3TYHRT T ] HAT |

frefofiad & @ ®9 91 3edq Hdr &
q G e € 2

(A) T Gu1sTl & folu geam imfers
g7 e fafma 5T ameraar
FHiferd & |

(B) TS T I AT B o H
Hedl-agdl el |

(C) Uehel HRT 3T hifera HRT g
® W 3 HE1SA Dl o H Hedl
FEA T |

(D) ;Tfﬁﬂagfaﬁmeﬁﬂﬂm
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34.  Which of the following issues did the
Uruguay Round not address ?
(A) Migration
(B) Intellectual Property Rights
(C) Services
(D) Tariff
35. The experience with managed
exchange rates since 1973
(A) strongly supports a fixed
exchange rate system.
(B) strongly supports a freely
flexible exchange rate system.
(C) mildly supports a flexible
exchange rate system.
(D) supports some restriction on
exchange rate fluctuations.
36. List—1 List—11
a. Freetrade 1. No
area restrictions on
trade and
factor
movement
b. Customs 2. Trade is /free
union and no
Customs
Duties
c. Common 3./ No_+Customs
market Duties but
duties on non-
members
d. Economic® 4. Advanced
union stage of
integration
Codes :
a b c d
A) 2 1 3 4
(B) 3 2 4 1
C) 2 3 1 4
M 1 3 4 2
Paper-I111
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37.

38.

39.

An example of a Euro currency is
(A) a Dollar deposit outside the

U.S.

(B) a Pound Sterling deposit
outside the U.K.

(C©) a Mark deposit outside
Germany

(D) All of the above

Which one of the following tax is
within the jurisdiction of the State
Governments as enumerated® in
List — Il of the Constitution of India ?

(A) Taxes other than stamp duties
on transactions® in  stock
exchange and future markets.

(B) Taxeson Railway freights and
fares.

(C).. Taxes on mineral rights subject
to any limitations imposed by
the Parliament.

(D) Rate of stamp duty in respect
of certain financial documents.

Match the items given in List — | with
those in List— 11 :

List— 1| List— 11
I. Third Finance 1. J.M. Shelat
Commission
Il. Sixth Finance 2. A.K. Chanda
Commission
I11. Seventh 3. K.C. Pant
Finance
Commission
IV.Tenth Finance 4. K.Brahmananda
Commission Reddy
Codes :
I i u v
(A) 4 1 3 2
(B) 3 4 1 2
C) 2 3 4 1
(D) 2 4 1 3
S-01-13
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34, TAMEd § ¥ 59 AW W Sod
0T H == TE gE o 2
(A) wET™
(B) dife THET ATHR
(C) Hamd
(D) 3fw
35. vafd faf9a g3 1 w=iT 1973 9 7
(A) % fer OFg T 9ga @
SIRER G4 Xl & |
(B) wWa= ® ¥ @GR faH9g X
TETd T STRGR 0T T € |
(C) w=RR fat 9 3T ugid &
TGS HATE |
(D) ToFma T F FeA-9gd W FS
T S S AT FAT |
36. =i - | = - 1
a @Wa=a 1. @R I HRE
R Mg W iz Alqe
& Erall
b. ®&H 2. HAUR @Wam ewdil
PERE I HHT ek el |
c. mEm 3. HE ML Yob T,
IR W] T W
TEIT |
d. 3T, 4. ¢ THHIT FH 3=
Eetof i)
%
a b c d
A 2 1 3 4
B) 3 2 4 1
C 2 3 1 4
D) 1 3 4 2
S-01-13
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37.

38.

39.

IR HLHT T T IR &
(A)

J UG, % TEY STH FHAT T TH

(B)

3, % ART ST FEET T TH
TIRUE T[T

STHAT & 8T STHT SHa/T T Ueh

o
IR T

(©)
(D)

fefafad &1 & ¥ B e, IR &

Tl @ = 1 % AR TF & &

YT &3 T 31T & 2

(A) Tk THAES 3R 9 ISR
TSl O, W& St & 3TAE
T

(B)... &9 HIGT 78T 3R Iel W

(C)( #ag g ferddl @E e HEr
Big, T AMHRT W A

(D) FB foxdia IEAEST ¥ FHEfud
W gt W aT

gt — | & w_Y W gE — || @ EEi
gafed HIT |

e - | =t - 1
|. ga= fag & 1. SLuE. Sied
1. o1 fod s 2. W =T
1. Orcrert fort =T 3. St o
IV.3ga fo s 4. & SEEs

L]
e T
R | I 1 TR \V/
A 4 1 3 2
B 3 4 1 2
C 2 3 4 1
) 2 4 1 3
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40. Which of the following are
Government of India debt obligations ?
l. State Provident Funds
Il.  Small Savings
I1l.  Reserve Money
IV. Reserve Funds and Deposits

Codes :

(A) land Il are correct.
(B) I, 1l and IV are correct.
(C) MHandI1V are correct.
(D) I, 1l and Il are correct.

41. Arrange the
chronological order :
I. Task Force on Direct and

following in

Indirect Taxes (Kelkar
Committee)

Il.  Replacement of State Sales Tax
by Value Added Tax

I1l. Introduction of MODVAT

IV. Fiscal Responsibility and
Budget Management Act

Codes :

(A) NIV, T (B) LIV,

©) uLiv, L (D) I HL v

42. Which of the following tax is
introduced in India in 1953 and
abolished in 1985 ?

(A) Estate Duty
(B) Expenditure Tax
(C) Gift Tax
(D) Agricultural Income-tax
43. Match different deficit/indicators given

in List — | with the value in List — Il for
the Union Budget2013-14 :

List= | List—11
i. Revenue'deficit a. 1.5
ii. Effectiverevenue b. 1.8
deficit

iii. Fiscal deficit c. 3.3
IvV.*Primary deficit d. 4.8
Codes :

i i i v
(A) a c b d
(B) b c d a
C) c b d c
(D) a d c b

Paper-I111
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44. As per the revised estimate, the plan
expenditure of the budget estimate
for 2012-13 in India has been
lowered by

(A) 9.0 percent

(B) 15.0 percent
(C) 18.0 percent
(D) 23.0 percent

45. Find out the items which.are not in
the scope of the Jawaharlal Nehru

National Urban Renewal Mission
(JNNURM) :
(A) Internal*, earmarking within

local body budgets for basic
services'to the urban poor.

(B) ~Provide legal and financial
support to  metro/mono-rail
projects in urban areas.

(C) Earmarking of at least 20-25
percent of developed land in all
housing  projects for the
economically weaker sections
and low income groups
category.

(D) Implementation of a seven-
point charter for provisioning
of seven basic entitlements/

services.
46. Which  Economic  Survey has
introduced a new chapter on
“Sustainable  Development  and

Climate Change” ?

(A) Economic Survey 2004-05
(B) Economic Survey 2007-08
(C) Economic Survey 2009-10

(D) Economic Survey 2011-12
S-01-13
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44, TIITYd 3Mhe & AR a1 e

40. frefafad § @ &9 @ 9RT WHR Hl
0T ST € 2
. T gfasy g
Il. g =d
. = gs
IV. T8 wog 3R feufsieq
ETE
(A) |31 TE
B) I, 1l 3RIVIET |
(C) N 3ATIVIEE |
(D) 1,13 TEE |

41. TATAMET &I HOHHANER  SFaed
FHIT |
l.

TIeT U 3Tl Y W B T

(heTeRT THTd)

I,  TF foashl & 1 Oed STarade
TR eI

Il THSANEATI. (MODVAT)
PEN)

IV. fodig <fae w@ s ga=d
iDL

ETE

(A) NLILIV, T (B) LIV,

© NLIV, LI (D) 111V, |

42. 9RA ¥ HF W H 1953 § IE {62 79
3T 1985 T TAT T f5am 74T 2
(A) TmRTegd (B) FE-H
(C) STR-H (D), F1T 37T T
43, g - | # ¥ T T % Ghaw H
T - || ° 9EE 5972 2013-14 & oI
T oot HIT |

et | = - 1
i SR a. 1.5
ii. Y9ET e HT b, 1.8
i, TSRS e c. 33
IV TreTee =T d. 438
&

i i i v
(A a ¢ b d
B) b c d a
C) c b d c
(D) a d c b
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45.

46.

FET 2012-13 & W TS =T H
foherT e Y e mr & 2

(A) 9.0 ufcTerd
(B) 15.0 Hfqerd
(C) 18.0 Uit
(D) 23.0 Ui

3 U] T Tl TIET ST FeRLele] "8

IRt TEeRoT fHeE (JINNURM) & & 9

TEt 3T |

(A) T HEE P g et 2
T et & S5 § 3=
ST TIT |

(B)/ e & ® BIMAA A
uREsHTe % T & SR
fordia weraar qear w |

(C) o7f&eh ®T ¥ FHHESIR o/ 3
TE W A0 % fow ad e
uRarsIeT | fastaa 9f & 9
T HH 20-25 AT 3TN T |

(D) ¥ TRT aTet e H HETEE,
T FART gl /HaTST i SHaT
FHET |

HF W 3MTF T 7 4R fers
3T STeTay] URed Trewedt Fa7 37eam
STeT € 2

(A) 3TfoTe QAT 2004-05
(B) 2TfeTeh WAToT 2007-08
(C) 3mferss |ARTT 2009-10
(D) 3mferes |A&ToT 2011-12
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Match the different Five Year Plans
of India given in List — I with the
annual growth rate of National
Income (at 2004-05 prices) given in
List—11:

List—1 List— 11
i. EighthPlan a. 5.5 percent
ii. Ninth Plan b. 6.7 percent
iii. Tenth Plan c. 7.5 percent
iv. Eleventh Plan d. 7.8 percent
Codes :
i i i v
(A b a c d
(B) a c d b
€ b d a b
(D) d b c a

What has been the monthly per capita
expenditure  (Uniform  Reference
Period) for urban population of India
(at 2004-05 prices) as per the 68"
Round of NSSO (2011-12) ?

(A) %707.24

(B) T1,359.75

(C) ¥1,785.81

(D) T2,401.68

Which of the following programmes

is not included in rural infrastructure

development in India ?

(A) Integrated Low Cost_ Sanitation
Scheme (ILCS)

(B) Bharat Nirman

(C) Indira Awas Yojana (1AY)

(D) Total Sanitation Campaign
(TSC)
What is ~the formula for tax

devolutien. used by the Thirteenth
Finance Commission of India ?

Formula {Population | Area Fiscal Fiscal
(%) (%) | capacity | Discipline
(1971) distance
(%)
(A) | 250 [175] 10,0 475
(B) | 10.0 |25.0| 475 175
(C) 250 |10.0| 475 17.5
(D) | 175 |100]| 25.0 47.5
Paper-I111

51.

52.

For a firm in long-run equilibrium

producing an allocatively efficient

level of output where marginal cost is

equal to demand, which of the

following does not apply ?

(A) Price is sufficient to cover the
opportunity cost.

(B) Profit of the firm becomes
zero.

(C) Price
costs.

(D) This situation also satisfies the
consumers.

is sufficient to cover

What will be the value of Herfindahl-
Hirschmann _Index — of  market
concentration. for, the following
industry ?

Share of | Firmy| ‘Firm"| Firm | Firm | Firm | Firm
firms

1 2 3 4 5 6

Industry/| /30 25 15 15 10 5

53.

(A)._55

(B) 35

(C) 2100

(D) None of the above

Make out a correct combination from

the following sets I & Il in the

context of the industrial economics :
Set- 1| Set— 11

i. SCP a. James
Approach Buchanan

ii. Transaction b. Neoclassical
Cost Theory Theory

iii. Public Choice c. Herfindahl-
Theory Hirschmann

Index

iv. Industrial d. Williamson
Concentration

Codes :
i i i v

(A b d a c

(B) c d b c

C) a c d b

(D) d b a c

S-01-13
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51. I <o | U ®H & fofg St

g o gl — 11 § U 31 i afern
T (2004-05 i HEdl W) & T
€ | S great # #ET B U gE 9
gafed ST |
=it - | =t - 1
i, 3Tl g 5.5 mfaeTd
i, =i e 6.7 TTceTe
iii. ST AT 7.5 wiaeTd
iv. TIREE FT 7.8 ufqerd

%< .

(=N

e - | 3 fafit s A A e
ke

o0 o

(A)
(B)
(©)
(D) a

TR I TR SEE & T (2004-05
H HEA W) UG AT qES g
@EE Y UET) 689 UA.UH.UG.S.
(2011-12) % STTER 1 &l & ?

(A) %707.24

(B) % 1359.75

(C) 178581

(D) % 2401.68

ooco®» o -

oo o

o ®ao
coac

frfeifad & & ®iF a1 %y R §

T gFERT S foae & e

et &t ferar e 2

(A) THFEd F= AN, edel &
(ILCS)

(B) 9Ra Far

(C) sf=r swmar AT

(D) T T=FAT MR (TSC)

FT EEAAOFHAT T & et T
AR % aigal for 31T 3 fepan € 2

AT

(SN

TAEET| AT | TS| TSN
(%) | (%) | WweA | SrgemEH
(1971) T (%)

(A)

25.0 |175] 10.0 47.5

(B)

10.0 | 25.0| 475 175

(©)

25.0 |10.0| 475 175

(D)

175 [10.0] 250 47.5
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SR & STEAIT F8T T W SR T

T ¥, STt I T HT % SRR T,

frefefad 5 @ i o1 ] & g 2

(A) ST AT I HoRk B h [T
Fd T § |

HH I T I & ST ¢ |

AN &l el HH o [T hiFd
T ¥ |

g feafq IwdeRT i Hf S
HAE |

(B)
(©)

(D)

52. WRUSREA-ETHE SR eS0T gt 6
o Frefafad g &, forg < & 2
THH | B | BENET | B | wH | w1
femmr | 1002 ) 3| 4|5 ]| 6
e | 300 25 | 15 | 15| 10 | 5

(A)/ 55
(B) 35
(C) 2100
(D) SWiwd H § g Tél
53. frefafEd ag=aa — | 3R = — I

¥ olEifies sFRmE % WeW H Wl

qY=ad FT 99 HIT |

=T - | T ||
i, TEEO 3UTH A STE gHEA
ii. TR AT b. ererTER
lisEAR| g
iii. TS e ¢ RwTSEA-
lisEAAR| fedum g
iv. 3TENAE 50T d. faferaaad
T :
i i i v
(A b d a c
(B) c d b c
(C) a c d b
(D) d b a c
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54. Backward-bending supply curve of
labour suggests that
(A) when wage rate increases,
supply of labour declines.

(B) when wage rate declines,
supply of labour increases.

(C) there is no relationship between
wage rate and labour supply.

(D) when wage rate increases,
initially labour supply increases
and after some point with the
increase in wage rate, labour
supply decreases.

55. Who among the following is not
associated with  the collective
bargaining by the labour with the
management ?

(A) R.G. Lipsey

(B) Neil W. Chamberlain
(C) Carl M. Stevens

(D) Bevars D. Mabry

56. The M, definition of money is

(A) Currency outside banks .and
checking deposits

(B) Currency  outside. “.banks,
checking deposits and
travellers checks

(C) Currency outstanding and
checking deposits

(D) Currency.outstanding, checking
deposits “and money market
depasit accounts

57. The biggest component of reserve
money in India is
(A) Treasury bills
(B) Currency in circulation
(C) Bankers deposits with RBI
(D) Other deposits with RBI

Paper-I111

58.

59.

60.

The components of the organized
sector of the money market

l. Bill market

Il.  Stock market

Il.  Gift-edged market
IV. Bank loan market

Codes :

(A) Tland Il are correct.
(B) I, Il and IV are correct.
(C) I, 1land IV are correct.

(D) land IV are correct.

Assertion (A) The,_ prices of
Government securities in gift-
edged market are not formed
freely.

Reason (R) @ The Reserve Bank of
India~has a monopoly dealer
position and the demand for
Government securities has a
captive nature.

Codes :
(A) (A)istrue, but (R) is false.

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(©) (A) is not correct, but (R) is
correct.

(D) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

Find out the correct answer from the
codes given below :

Credit Rating Agencies in India
I.  CRISIL Il. ICRA
1. TDICI IV. CARE
Codes :

(A) land Il are correct.

(B) I, Il'and Il are correct.

(C) land IV are correct.

(D) I, 1land IV are correct.
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54. =H % A(q ok H1 U B A FHA

55.

56.

57,

TR AT &

(A) ST9 BTG Y T gl & ar 57
YIS & S & |

(B) & TSR b &% fRel & A &1
AT el ¢ |

(C) TGy &l 3T 3R 91 Mg § »ig
Ty TR ¢ |

(D) ST& ASIGA i ST el &, URET |
o9 3T Sgl & 3R R e
X A gy F R g W am
3mgfq FRer & |

frfafed § ¥ ®F 9 T % 9
ST % ATfeh Qe ¥ TG T § 2

(A) 3MTSH. fercd

(B) et S0y, <hRie
(C) =t . Ro
(D) deRy . HeR

TET B M, TR &
(A) % ¥ T B I AR R
feuisteq

B) F ¥ T B . ST
Faf e o il oo

(C) TsT ST SR AR Teuttsted

(D) TST A, W feuisted 3R
ARIEMR ST o

IR H 5T 751 1 G g1 Heh ¥
(A) TSHEE faet

(B) oo 5 HRT

(C) o EN3ME. | i o feuroie
(D) SIRE3ME. § 31 feuiste

S-01-13
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58. R SISTR % Glfed & & U2 &

59.

60.

. fooramR

Il. ¥ Aikhe

. &< anR

V. % %01 e

£ T4

(A) | 3TITEE
(B) I, 1lRIVIEE |
(C) ILIRIVIET |
(D) 13RIV EE |

Aafpem (A) : 9€ TR H WER
wfagfet @l Hiad @A ' °
ffTa T@hgidre |

FROC(R) ;| WRaE @ d% @
THIIHRT =R 1 fefq et €
SR TR uferfaat & ferd |
AT Ui <l Bl € |

ETE

(A) (A)TFE, T (R) AT |

(B) (A) ¥R (R) i Wl €, W= (R),
(A) F TET AT TET T |

(C) (A) T& &l &, = (R) W& € |

(D) (A) 3R (R) sHI @&l € &R (R),
(A) =l &l = ¢ |

e 53 et F Wl SR A H |
IR H shige e vt
|.  TMEeT (CRISIL)
[I.  THT (ICRA)

[1l. 2re=™ (TDICI)
IV. % (CARE)

he

(A) |31 TE
(B) I, 11 3R Il T &
(C) 13RIVEE |
(D) I, N3RIVEE

Paper-I111

www.sakshieducation.com



61.

62.

63.

64.

www.sakshieducation.com

Regression coefficient is independent
of change in

(A) origin but not of scale
(B) both origin and scale
(C) scale but not of origin
(D) none of these

In a multiple regression with two
independent  variables and 12
observations F value calculated is to
be tested. What will be degrees of
freedom  for  numerator  and
denominator in testing procedure ?

(A) land12 (B) 2and 11
(C) 2and 10 (D) 1and10

For a viable input-output system
which conditions are postulated ?

(A) Hawkins-Simon conditions
(B) Kuhn-Tucker conditions

(C) Bhagwati-Eckaus conditions
(D) Von Neumann conditions

Given that
function is

C.E.S. production

j
P=y 5L+ (L-8)K™P] P
List— 1| List— 1l
a. vy i. Distribution
parameéter
b. &

ii. Substitution
parameter

iii. Returns to
parameter

iv. Efficiency
parameter

scale

Codes :

a b c d
(A) Qi i i iv
(B) iii v i i
C) iv i i ii
(D) i i i v

Paper-I111
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65.

66.

67.

68.

Linear Programming Technique was
developed for the first time by

(A) Koopmans

(B) Dantzig

(C) Leontief

(D) Mahalanobis

Given Harrod’s Growth Model as
under :

S(t) = aY(t)

1(t) = BLY (1) - Y(t-1)]

S(t) = I(t)

a, B>0.

In this model sustained growth is
indicated by satisfying'the.condition

(A) —B—>0

~a
(B) _ELofO
i
T

Cobb-Douglas production function

Q = AL® K¥* does not possess the

characteristics of

(A) Constant Returns to Scale

(B) Unit Elasticity of Substitution

(C) \Variable Elasticity of
Substitution

(D) Linear homogeneity

Estimate of Total Fertility Rate
(TFR) from the given Age-Specific
Fertility Rates (ASFR) :

Age Group ASFR
15-19 19.6
20-24 147.3
25-29 132.9
30-34 56.2
35-39 18.1
40-44 3.8
45 - 49 1.0

(A) 1.56 (B) 1.86
(C) 239 (D) 2.62
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FUIEeT o fhEd uReads ¥ @
BT E 2

(A) T W T H TEl

(B) Tt 3R Ju <14 B

(C) UHMT W TeT T et

(D) SWiad § § &g Tal

g TEISE H ST & WA 9 AR 12
IO Bt URehioTd Jod F 1 TRIeI0T et
T | TreTOT wfshAr | TuTeh 3 §Y R
AT A W=l &I 2

(A) 1312 (B) 2311

(C) 2310 (D) 1310

IR TYE-3MSeYS TuIedt & ford
I T 91T BT FHoTT B TS € 2

(A) EifFg-a=aT I
(B) Fe-TH
(C) rarc-gehie ¥Ict
(D) @i =ga ot

T o 7% CES 3ced %ol ¢

u
P=y[6LP+(1-8)K*] P
= - | = ||

]
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65.

66.

67.

68.

aer T dohieh 1 Femed foaehe
e T 2
(A) BT
(C) waFfe®

(B) S=fem
(D) YA

e & 1 gy Higet fGar S Wiy
S() =aY()

I(t) =BLY(®)-Y(t-1)]

s =1(t)

o, >0

T T H, UNUNT ghg ey o
TR ST Bl €, At

FE-STA 3T e Q = AL @ K@
T o TeToT T ¥R & 2

(A) TEH W FER ufawa

(B) wiqed= =i TS oAl

(C) e W Wigd- ard

(D) @ UHETT

TEA STY-[ANTe WS &X (ASFR) 9§

A TS T H STAM &
AT TTE.UE 3R,
15-19 19.6
20-24 147.3
25-29 132.9
30-34 56.2
35-39 18.1
40 - 44 3.8
45 - 49 1.0

(A) 1.56 (B) 1.86

(C) 239 (D) 2.62
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69. Which of the following is not correct
about a population pyramid ?

(A) On the right side of the
pyramid women’s age structure
is shown.

(B) It shows age and sex
distribution of a population.

(C) An expansive pyramid is
narrow at the base but it
expands as it moves up towards
higher ages.

(D) Population pyramids can be
used to find the economic
dependents supported in a
particular population.

70. The situation of people in villages
and towns of strong emigration
receiving high amount of remittances
has been described as “private
affluence and public squalor” by
(A) M. Todaro
(B) John K. Galbraith
(C) Arthur Lewis
(D) Gunar Myrdal

71. Which of the following mogdels ¢can
be estimated using OLSfollowing
suitable transformation, if\necessary ?
Here e denotes the exponential.

() yi= o+ By,

(i) y,=oa+pet+u,

(i) y,Sapx; +u,

(iv), iy, = o + B In(x) + u,

Codes :

(A) (i) only

(B) (i) and (iii) only

(C) (i), (iii) and (iv) only

(D) (i), (i), (iii) and (iv)
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72,

73.

74,

75.

Suppose that observations are
available on the monthly bond prices
of 100 companies for five years.
What type of data are these ?

(A) Cross Sectional
(B) Time Series
(C) Panel

(D) Qualitative

What is the meaning of thesterm
“heteroscedasticity” ?

(A) The variance of errors, is not
constant.

(B) The variance. of dependent
variable is.not constant.

(C) The errors vare not linearly
independent of one another.

(D) “yThe.errors have non-zero mean.

Which of the following estimation
techniques are available for the
estimation of over-identified systems
of simultaneous equations ?

(i) OLS (i) ILS
(iii) 2SLS (iv) IV
Codes :

(A) (iii) only

(B) (iii) and (iv) only
(C) (ii), (iii) and (iv) only
(D) (i), (ii), (iii) and (iv)

The order condition is

(A) a necessary and sufficient
condition for identification.

(B) a necessary but not sufficient
condition for identification.

(C) a sufficient but not necessary
condition for identification.

(D) a condition that is neither
necessary nor sufficient for
identification.
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72,

73.

74,

75.

69. FHffad ® 4 SH@en wims &
T | I o1 T TE 2
(A) TRifHE ®f TR 3T Afgenet &l
3G TIFAT i T ST € |
(B) IE UH SHUEA H Mg R o
TS =T geaT € |
(C) U foram fomifire 4 | A e
¥ 3R et g% SR 3T W 3T
Tl & A I8 Herdl ST € |
(D) I TS 1 & I8 ST
% forw fepanr ST @b © T Tt
foeie sFeen s T e
3Tt < Feradr st STl ¢ |
70. TiEl ok R 6 fefa A, S© @ 9R
TETEA g3 €, UM o & 3= AR
H A F W §, 39 N wm
TGl 3 AT e € 17 T
FRTE 2
(A) TH. R
(B) ST &, MY
(C) 3R wifaw
(D) TR e
71. Tr=fofed dteat § @ 9 HEA
3N TATH. 1 TANT FA W SR ET
ThaT &, AT R & Oy 3t
JMATAH & 7 Tl e TIECIR H The
FATE |
() y,=o+pxtFy,
(i) y,=optBet+u,
(i) Y 2aFBx; +u,
(iv), ‘(y) = o+ B In(x) + u,
ET%
(A) e (i)
(B) e (i) @i (iii)
(C) e (i), (iii) 3R (iv)
(D) (i), (i), (iii) &R (iv)
S-01-13

23

FHIT HIST fF 100 HHHET B U=
¥ & foU Aifges e ®Ed e
TeT0T SUAH & | T8 [T UHR T ST
B 2

(A) i ergamii

(B) THA sfEeT

(C) U=

(D) TomeTR

foum fa@iiar (Heteroscedasticityy), &t

T 3T ¥ 9

(A) et o meror feraEhe

(B) 3T =) =T TREROT FeR TR ¥ |

(C) Ffeat & T F-aswh @& H
A= T8l &

(D) FAI T ATF & |

fAfarEe S H= de-ih 5 9 & o
s I THHIOT i 31 AT
% feTT STete ¥ 2

(i) eNTETd. (OLS)

(i) STEUATH. (ILS)

(i) 2 SLS

(iv) 1V

ETE

(A) F=e (i)

(B) & (jii) 3K (iv)

(C) = (ii), (iii) 3% (iv)

(D) (i), (ii), (iii) 3R (iv)

(A) oEEar & o smavas wd
T T

(B) fmiaar & fold smavas W=
AT I T

(C) ofimaar & fod W W=
YT I Tél

(D) v St afvmger & fod 7 @
MEva & 7 & A
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